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Introduction

TDoc R2-001708 was submitted to optimise SIB 11/12 for cell reselection parameters. The idea was to optimise the size of  SIB 11/12:  Some parameters like Qoffset2 are not required when Ec/No is not used as quality measurement. This IE is unfortunately quite deep in the tree of IEs for SIB 11/12. The only way in ASN1 to make different cases is to make two branches: one for “Ec/No used” and one for “Ec/No not used”.

The same optimisation was possible for HCS related parameters (HCS-NeighbouringCellinformation). 

That is why four branches were needed to do this optimisation. Only two branches are required for InterRAT cells as they do not use Ec/No.

Presentation of current implementation

The following diagrams shows the present implementation of ASN1 (only the accurate IEs are presented) concerning SIB 11/12 and cell reselection parameters. 


[image: image1.wmf]Q-OffsetS-N DEFAULT 0

CellSelectReselectInfoSIB-11-12-RSCP OPTIONAL

IntraFreqMeasurementSysInfo-RSCP OPTIONAL

InterFreqMeasurementSysInfo-RSCP OPTIONAL (idem)

cpich RSCP

 q-Offset1S-N     DEFAULT 0

 q-Offset2S-N     DEFAULT 0

CellSelectReselectInfoSIB-11-12-HCS-ECN0 OPTIONAL

cpich-Ec-No

InterRATMeasurementSysInfo- OPTIONAL

hcs not used

HCS Used (...)

measurementControlSysInfo

SysInfoType11


Figure 1 : ASN1 structure for neighbouring cells in SIB 11/12  (1/2)
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Figure 2 : ASN1 structure for neighbouring cells in SIB 11/12  (1/2)

If HCS is not used, HCS-NeighbouringCellInformation does not need to be sent. Making it OPTIONAL means that the presence of this IE has to be signalled for each neighbouring cell. In the diagram, such information is shown in yellow. We save one bit per neighbouring cell.

In the case Ec/No is not quality measure for the serving cell, Temporary offset2 does not need to be sent. This IE is in green on the diagram. We can save one bit per neighbouring cell.

When the neighbouring cell is a TDD cell, the absence of IE is signalled anyway.

It means that if the neighbouring cell is a FDD cell, not using Ec/No as quality measure and HCS is not used, 2 bits can be saved.

Position of the problem

This structure seems to create some problems :

· The implementation of REL4 messages is much more difficult

· The “strategy” of optimisation could be not fully understood in the future.(Even now, there is some contradiction for InterRAT cells –see below )

However 

· This “strategy” allows to save some bits in the messages

· In futures releases, the complete R99 message will have to be sent on BCH.

We can go back to previous implementation. The Figure 3 shows the possible ASN1 structure of CellSelectReselectInfoSIB-11-12. The IEs in yellow and green would be optional or have a default value. The four branches would become only one.

We can decide to continue with this “strategy”. The implementation of ASN1 as to be checked in details to see if it is compliant to this strategy. If we choose to continue, we have to decide if we also want to optimise the InterRAT (see below)
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Figure 3 : Proposition of ASN1 structure of CellSelectReselectInfoSIB-11-12

Inter RAT neighbouring cells.

Note: in the current ASN1, there is an inversion between InterRATMeasurementSysInfo and InterRATMeasurementSysInfo-HCS in MeasurementControlSysInfo.
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Figure 4 : Current ASN1 implement  for InterRAT cells
The diagram above shows the present implementation of ASN1 concerning InterRAT neighbouring cells. In this case only HCS optimisation can be done as InterRAT cells do not need Ec/No.

For the moment, both branches refer to CellSelectReselectInfoSIB-11-12. This redundancy is not useful. To correct this we have two choices :

· Keeping the philosophy of optimisation and creating a InterRATMeasurementSysInfo-HCS specially designed for HCS and removing all HCS related information from InterRATMeasurementSysInfo.

· Simplifying the message by keeping only one “branch”.

Other comments : 

· The IE InterRATCellInfoList-HCS is optional whereas the previous IE in the branch is already optional. This “OPTIONAL duplication” is useless in this case.

· For InterRAT Cells, Qoffset2 is not needed.

Proposition :

The current implementation of ASN1 is not totally correct. A choice has to be taken between the two approaches 

· Optimised but complicated messages 

· Simple but longer messages

On both cases, ASN1 has to be compliant with the choices and a corrections have to be done.

Comments are welcome on the question.
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